## **BID SUMMARY**

Project #73320 Pleasant Valley Road (SR49) / Patterson Drive Intersection Signalization Project

Contract No. PW 09-30425

Project No. #73320

Project Types Signalization Project

 Begin Advertisement:
 9/13/13

 Bid Opening:
 10/14/13

 Anticipated Award:
 11/05/13

				WESTERN ENGINEERING CONTRACTORS, INC.		DOUG VEERKAMP GENERAL ENGINEERING, INC.		GRANITE CONSTRUCTION COMPANY			
ltem	No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
1		070030	LEAD COMPLIANCE PLAN	LS	1	\$2,000.00	\$2,000.00	\$2,700.00	\$2,700.00	\$2,500.00	\$2,500.00
2		072007	EXCAVATION SAFETY	LS	1	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$1,300.00	\$1,300.00
3		080050	PROGRESS SCHEDULE (CRITICAL PATH METHOD)	LS	1	\$2,000.00	\$2,000.00	\$510.00	\$510.00	\$3,500.00	\$3,500.00
4	Р	120090	CONSTRUCTION AREA SIGNS	LS	1	\$7,000.00	\$7,000.00	\$8,600.00	\$8,600.00	\$3,500.00	\$3,500.00
5		120100	TRAFFIC CONTROL SYSTEM	LS	1	\$50,000.00	\$50,000.00	\$53,600.00	\$53,600.00	\$200,000.00	\$200,000.00
6		120149	TEMPORARY PAVEMENT MARKING (PAINT)	SF	409	\$4.00	\$1,636.00	\$3.00	\$1,227.00	\$3.00	\$1,227.00
7		120159	TEMPORARY TRAFFIC STRIPE (PAINT)	LF	8,711	\$0.50	\$4,355.50	\$1.00	\$8,711.00	\$0.50	\$4,355.50
8		120182	PORTABLE DELINEATOR	EA	129	\$50.00	\$6,450.00	\$30.00	\$3,870.00	\$21.00	\$2,709.00
9		120199	TRAFFIC PLASTIC DRUM	EA	10	\$100.00	\$1,000.00	\$83.00	\$830.00	\$40.00	\$400.00
10		120200	FLASHING BEACON (PORTABLE)	EA	9	\$800.00	\$7,200.00	\$141.00	\$1,269.00	\$100.00	\$900.00
11		120300	TEMPORARY PAVEMENT MARKER	EA	422	\$4.00	\$1,688.00	\$27.00	\$11,394.00	\$3.00	\$1,266.00
12		128651A	PORTABLE CHANGEABLE MESSAGE SIGN	SWD	480	\$25.00	\$12,000.00	\$55.00	\$26,400.00	\$70.00	\$33,600.00
13		130100	JOB SITE MANAGEMENT	LS	1	\$6,500.00	\$6,500.00	\$14,900.00	\$14,900.00	\$95,000.00	\$95,000.00
14		130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$2,500.00	\$2,500.00	\$3,800.00	\$3,800.00	\$1,900.00	\$1,900.00
15		130310	RAIN EVENT ACTION PLAN	EA	10	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00
16		130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	10	\$200.00	\$2,000.00	\$550.00	\$5,500.00	\$45.00	\$450.00
17		130330	STORM WATER ANNUAL REPORT	EA	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
18		130620	TEMPORARY DRAINAGE INLET PROTECTION	EA	10	\$200.00	\$2,000.00	\$200.00	\$2,000.00	\$130.00	\$1,300.00
19		141000	TEMPORARY FENCE (TYPE ESA)	LF	3,360	\$2.50	\$8,400.00	\$4.40	\$14,784.00	\$2.60	\$8,736.00
20		141103	REMOVE YELLOW THERMOPLASTIC TRAFFIC STRIPE (Hazardous Waste)	LF	3,300	\$2.00	\$6,600.00	\$2.00	\$6,600.00	\$1.97	\$6,501.00
21		149001A	PREPARE FUGITIVE DUST CONTROL PLAN	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$600.00	\$600.00
22		150204	ABANDON CULVERT (33"X49")	LF	43	\$70.00	\$3,010.00	\$29.00	\$1,247.00	\$16.00	\$688.00
23		150606	REMOVE FENCE (TYPE BW)	LF	1,388	\$2.00	\$2,776.00	\$2.80	\$3,886.40	\$2.50	\$3,470.00
24		150714	REMOVE THERMOPLASTIC TRAFFIC STRIPE	LF	4,242	\$1.00	\$4,242.00	\$1.10	\$4,666.20	\$1.00	\$4,242.00

					WESTERN ENGINEERING CONTRACTORS, INC.		DOUG VEERKAMP GENERAL ENGINEERING, INC.		GRANITE CONSTRUCTION COMPANY	
Item No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
25	150715	REMOVE THERMOPLASTIC PAVEMENT MARKING	SF	411	\$3.00	\$1,233.00	\$3.30	\$1,356.30	\$3.19	\$1,311.09
26	150722	REMOVE PAVEMENT MARKER	EA	315	\$3.00	\$945.00	\$3.40	\$1,071.00	\$0.25	\$78.75
27	150742	REMOVE ROADSIDE SIGNS	EA	8	\$100.00	\$800.00	\$110.00	\$880.00	\$100.00	\$800.00
28	150745A	REMOVE FLASHING SIGNAL POLE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00
29	150807A	REMOVE STORM DRAIN CULVERT (18" Dia or less)	LF	84	\$20.00	\$1,680.00	\$20.00	\$1,680.00	\$15.00	\$1,260.00
30	150807B	REMOVE STORM DRAIN CULVERT (33" X 49" CMPA)	LF	30	\$70.00	\$2,100.00	\$31.00	\$930.00	\$21.00	\$630.00
31	150812A	REMOVE PIPE (WATERLINE)	LF	250	\$25.00	\$6,250.00	\$43.00	\$10,750.00	\$28.00	\$7,000.00
32	150820	REMOVE INLET	EA	2	\$350.00	\$700.00	\$250.00	\$500.00	\$150.00	\$300.00
33	150821	REMOVE HEADWALL	EA	2	\$1,000.00	\$2,000.00	\$910.00	\$1,820.00	\$260.00	\$520.00
34	150828A	REMOVE UTILITY BOX	EA	2	\$550.00	\$1,100.00	\$460.00	\$920.00	\$75.00	\$150.00
35	151281	SALVAGE ROADSIDE SIGN	EA	9	\$150.00	\$1,350.00	\$110.00	\$990.00	\$85.00	\$765.00
36	151287A	SALVAGE FLASHING SIGNAL POLE	EA	1	\$700.00	\$700.00	\$700.00	\$700.00	\$3,600.00	\$3,600.00
37	151508A	RECONSTRUCT MANHOLE (EXISTING SSMH)	EA	3	\$3,500.00	\$10,500.00	\$1,200.00	\$3,600.00	\$2,000.00	\$6,000.00
38	151531A	RECONSTRUCT FENCE (chain link with slats)	LF	290	\$21.00	\$6,090.00	\$21.80	\$6,322.00	\$12.00	\$3,480.00
39	152390	RELOCATE ROADSIDE SIGN	EA	7	\$200.00	\$1,400.00	\$220.00	\$1,540.00	\$120.00	\$840.00
40	152402	ADJUST WATER VALVE COVER TO GRADE	EA	7	\$650.00	\$4,550.00	\$140.00	\$980.00	\$900.00	\$6,300.00
41	152440	ADJUST MANHOLE TO GRADE	EA	2	\$750.00	\$1,500.00	\$480.00	\$960.00	\$800.00	\$1,600.00
42	152453A	ADJUST WATER B.O. VALVE BOX TO GRADE	EA	1	\$800.00	\$800.00	\$490.00	\$490.00	\$600.00	\$600.00
43	153103A	COLD PLANE ASPHALT CONCRETE PAVEMENT (Minimum depth = 0.10')	SY	482	\$5.00	\$2,410.00	\$10.60	\$5,109.20	\$4.60	\$2,217.20
44	153103B	COLD PLANE ASPHALT CONCRETE PAVEMENT (Minimum depth = 0.20')	SY	2,018	\$5.00	\$10,090.00	\$5.00	\$10,090.00	\$4.60	\$9,282.80
45	153121A	REMOVE SIGNAL POLE FOUNDATIONS	CY	2	\$550.00	\$1,100.00	\$500.00	\$1,000.00	\$2,500.00	\$5,000.00
46	153215A	REMOVE CONCRETE (Curbs, Gutters and Driveways)	CY	78	\$55.00	\$4,290.00	\$180.00	\$14,040.00	\$125.00	\$9,750.00
47	153218	REMOVE CONCRETE (Sidewalk)	SF	1,655	\$2.00	\$3,310.00	\$2.10	\$3,475.50	\$2.00	\$3,310.00
48	153247A	REMOVE CONCRETE (SIGN FOUNDATION)	CY	3	\$300.00	\$900.00	\$820.00	\$2,460.00	\$350.00	\$1,050.00
49	155232	SAND BACKFILL	CY	25	\$80.00	\$2,000.00	\$160.00	\$4,000.00	\$130.00	\$3,250.00
50	160102	CLEARING AND GRUBBING	LS	1	\$44,614.00	\$44,614.00	\$15,800.00	\$15,800.00	\$12,000.00	\$12,000.00

						WESTERN ENGINEERING CONTRACTORS, INC.			RKAMP GENERAL EERING, INC.	GRANITE CONSTRUCTION COMPANY	
Item	No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
51	F	190101	ROADWAY EXCAVATION	CY	2,524	\$30.00	\$75,720.00	\$50.10	\$126,452.40	\$45.00	\$113,580.00
52		192059	STRUCTURE EXCAVATION (TYPE DC)	LS	1	\$6,500.00	\$6,500.00	\$16,200.00	\$16,200.00	\$3,600.00	\$3,600.00
53		193013	STRUCTURE BACKFILL (RETAINING WALL)	CY	17	\$300.00	\$5,100.00	\$330.00	\$5,610.00	\$190.00	\$3,230.00
54		210270	ROLLED EROSION CONTROL PRODUCT (NETTING-TYPE C)	SF	198	\$5.00	\$990.00	\$0.80	\$158.40	\$5.00	\$990.00
55		210300	HYDROMULCH	SF	82,380	\$0.10	\$8,238.00	\$0.11	\$9,061.80	\$0.09	\$7,414.20
56		210350	FIBER ROLLS	LF	2,670	\$3.20	\$8,544.00	\$5.70	\$15,219.00	\$3.10	\$8,277.00
57		210430	HYDROSEED	SF	82,578	\$0.09	\$7,432.02	\$0.09	\$7,432.02	\$0.07	\$5,780.46
58		210600	COMPOST	SF	198	\$5.00	\$990.00	\$0.66	\$130.68	\$0.70	\$138.60
59		210630	INCORPORATE MATERIALS	SF	82,380	\$0.15	\$12,357.00	\$0.06	\$4,942.80	\$0.13	\$10,709.40
60		260203	CLASS 2 AGGREGATE BASE	CY	888	\$165.00	\$146,520.00	\$60.70	\$53,901.60	\$100.00	\$88,800.00
61		390132	HOT MIX ASPHALT (TYPE A)	TON	2,777	\$90.00	\$249,930.00	\$82.20	\$228,269.40	\$92.00	\$255,484.00
62		390135	HOT MIX ASPHALT (LEVELING)	TON	2,181	\$100.00	\$218,100.00	\$97.30	\$212,211.30	\$103.00	\$224,643.00
63		394073	PLACE HOT MIX ASPHALT DIKE (TYPE A)	LF	53	\$30.00	\$1,590.00	\$51.00	\$2,703.00	\$8.00	\$424.00
64		394090A	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)(SIDEWALK & RAMP)	SQYD	212	\$24.00	\$5,088.00	\$26.00	\$5,512.00	\$9.00	\$1,908.00
65	F	510050	STRUCTURAL CONCRETE (PCC SLAB, ARCH CULVERT)	CY	13	\$600.00	\$7,800.00	\$390.00	\$5,070.00	\$350.00	\$4,550.00
66	F	510060	STRUCTURAL CONCRETE (RETAINING WALL)	CY	44	\$550.00	\$24,200.00	\$740.00	\$32,560.00	\$900.00	\$39,600.00
67		510502A	TYPE OS INLET	EA	1	\$2,200.00	\$2,200.00	\$1,510.00	\$1,510.00	\$3,300.00	\$3,300.00
68		510502B	TYPE GO INLET	EA	4	\$2,600.00	\$10,400.00	\$1,490.00	\$5,960.00	\$3,300.00	\$13,200.00
69		510502C	TYPE G3 INLET	EA	1	\$2,200.00	\$2,200.00	\$1,510.00	\$1,510.00	\$3,300.00	\$3,300.00
70	F	510526	MINOR CONCRETE (BACKFILL)	CY	42	\$270.00	\$11,340.00	\$211.00	\$8,862.00	\$320.00	\$13,440.00
71	P-F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	2,475	\$2.50	\$6,187.50	\$1.60	\$3,960.00	\$2.40	\$5,940.00
72	P-F	520101A	BAR REINFORCING STEEL (PCC Slab, Arch Culvert)	LB	700	\$3.00	\$2,100.00	\$4.60	\$3,220.00	\$2.40	\$1,680.00
73		566011	ROADSIDE SIGN - ONE POST	EA	7	\$300.00	\$2,100.00	\$380.00	\$2,660.00	\$350.00	\$2,450.00
74	Р	641101	12" PLASTIC PIPE	LF	105	\$130.00	\$13,650.00	\$170.00	\$17,850.00	\$60.00	\$6,300.00
75	Р	641107	18" PLASTIC PIPE	LF	680	\$65.00	\$44,200.00	\$51.10	\$34,748.00	\$65.00	\$44,200.00
76	Р	667028	49" x 33" CORRUGATED STEEL PIPE ARCH (.079" THICK)	LF	115	\$160.00	\$18,400.00	\$240.00	\$27,600.00	\$155.00	\$17,825.00
77		700639A	36" GMP (0.109" THICK)	EA	2	\$1,800.00	\$3,600.00	\$1,400.00	\$2,800.00	\$2,800.00	\$5,600.00

						WESTERN ENGINEERING CONTRACTORS, INC.		DOUG VEERKAMP GENERAL ENGINEERING, INC.		GRANITE CONSTRUCTION COMPANY	
Item	No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
78		705001A	49" x 33" STEEL FLARED END SECTION	EA	2	\$500.00	\$1,000.00	\$1,010.00	\$2,020.00	\$900.00	\$1,800.00
79		705011	18" STEEL FLARED END SECTION	EA	1	\$400.00	\$400.00	\$300.00	\$300.00	\$350.00	\$350.00
80	Р	707225	48" PRECAST CONCRETE PIPE MANHOLE	EA	3	\$4,500.00	\$13,500.00	\$4,900.00	\$14,700.00	\$4,500.00	\$13,500.00
81	F	721026	ROCK SLOPE PROTECTION (BACKING NO. 1, METHOD B)	CY	33	\$175.00	\$5,775.00	\$190.00	\$6,270.00	\$110.00	\$3,630.00
82	F	721028A	ROCK SLOPE PROTECTION (BACKING NO. 2, METHOD B)	CY	2	\$175.00	\$350.00	\$190.00	\$380.00	\$110.00	\$220.00
83		729011	ROCK SLOPE PROTECTION FABRIC (CLASS 8)	SY	67	\$20.00	\$1,340.00	\$12.00	\$804.00	\$1.00	\$67.00
84	F	730020	MINOR CONCRETE (CURB)	CY	17	\$485.00	\$8,245.00	\$700.00	\$11,900.00	\$650.00	\$11,050.00
85	F	730045A	MINOR CONCRETE (VALLEY GUTTER)	CY	18	\$460.00	\$8,280.00	\$850.00	\$15,300.00	\$250.00	\$4,500.00
86	F	731504	MINOR CONCRETE (CURB & GUTTER)	CY	96	\$410.00	\$39,360.00	\$510.00	\$48,960.00	\$265.00	\$25,440.00
87	F	731521	MINOR CONCRETE (SIDEWALK)	CY	100	\$590.00	\$59,000.00	\$520.00	\$52,000.00	\$650.00	\$65,000.00
88	F	731623	MINOR CONCRETE (CURB RAMP)	CY	9	\$1,000.00	\$9,000.00	\$2,110.00	\$18,990.00	\$1,050.00	\$9,450.00
89	Р	800001	FENCE (TYPE BW)	LF	1,225	\$8.00	\$9,800.00	\$13.00	\$15,925.00	\$11.00	\$13,475.00
90		800101	TEMPORATY FENCE (TYPE BW)	LF	231	\$7.00	\$1,617.00	\$10.00	\$2,310.00	\$8.00	\$1,848.00
91		800103	TEMPORARY FENCE (TYPE CL-6)	LF	611	\$5.00	\$3,055.00	\$13.00	\$7,943.00	\$12.00	\$7,332.00
92		801150A	10' WIRE MESH GATE (58" TALL, TYPE BW)	EA	2	\$1,500.00	\$3,000.00	\$600.00	\$1,200.00	\$550.00	\$1,100.00
93		820107	DELINEATOR (CLASS 1)	EA	4	\$50.00	\$200.00	\$70.00	\$280.00	\$21.00	\$84.00
94		832001	METAL BEAM GUARD RAILING	LF	38	\$45.00	\$1,710.00	\$50.00	\$1,900.00	\$43.00	\$1,634.00
95		839541	TRANSITION RAILING (TYPE WB)	EA	1	\$3,600.00	\$3,600.00	\$4,500.00	\$4,500.00	\$4,100.00	\$4,100.00
96		839584	ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	1	\$3,200.00	\$3,200.00	\$3,500.00	\$3,500.00	\$3,150.00	\$3,150.00
97		840501	THERMOPLASTIC TRAFFIC STRIPE	LF	8,851	\$1.00	\$8,851.00	\$0.90	\$7,965.90	\$0.90	\$7,965.90
98		840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SF	1,212	\$4.00	\$4,848.00	\$4.40	\$5,332.80	\$4.26	\$5,163.12
99		850111	PAVEMENT MARKER (RETROREFLECTIVE)	EA	2,445	\$3.00	\$7,335.00	\$3.30	\$8,068.50	\$3.00	\$7,335.00
100		850111A	PAVEMENT MARKER, BLUE (RETROREFLECTIVE)	EA	2	\$15.00	\$30.00	\$16.90	\$33.80	\$15.00	\$30.00
101	Р	860201	SIGNAL AND LIGHTING	LS	1	\$230,000.00	\$230,000.00	\$246,700.00	\$246,700.00	\$239,900.00	\$239,900.00
102		999990	MOBILIZATION	LS	1	\$172,000.00	\$172,000.00	\$167,800.00	\$167,800.00	\$185,000.00	\$185,000.00
			TOTAL				\$1,747,742.02		\$1,761,656.00		\$1,968,727.02